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P3-7

BrE) | GEBAK @) | ERE (EH/R) (KR R

01:25 125 80.0 |Z =& Bi&@01:25 (KRFEERSE)
02:25 125 80.0 (&= FiHA@02:25 (KRHE{ERESE)
03:25 125 80.0 1] FiHR@03:25 (KRF1EEES)
07:05 125 80.0 e FiHA@07:05 (KRE{ERESE)
09:15 125 80.0 5 FiH#R@09: 15 (FRAAfEEER)
10:30 125 80.0 & FiHA@10:30 (KREAfERZE)
11:35 125 80.0 & FnHAe11:35 (REAERZE)
12:35 125 80.0 5 FilRe12:35 (GRAAERHE)
13:40 125 80.0 & FnHAe13:40 (REERES)
14:50 125 80.0 & FnHfe14:50 (REERSS)
16:20 125 80.0 5 FiHfe16:20 (KREEREE)
23+ 1375.0 (110%) 880.0 3 IHFKEC: 1900.0, PH: 6.5

unusual large postFgEt from yesterday (322), set to 240.0 ml.
RER it ElRECEIEIR K.
REXREB I HEREC/PHETR K, AT BERIMAEELRTR
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P3-7

BFE) | GEBRTIK () | ElE (EF/F) | XS R

06:35 120 80.0 |Z = 1R1%@06:35 (K FHfERLES)
07:35 120 80.0 = B31&@07:35 (KFfEREE)
08:35 120 80.0 |Z =& B1%£@08:35 (KRFERSE)
10:05 120 80.0 |Z= B31£@10:05 (KAL)
11:30 120 80.0 (&= Bi%011:30 (REERSE)
12:30 120 80.0 |Z=& Bi%012:30 (REERSE)
13:30 120 80.0 |Z =& B318@13:30 (KRFEREE)
14:45 120 80.0 |Z = Big014:45 (REERSE)
16:15 120 80.0 |Z =& Bi%016:15 (REERSE)
21+ 1080.0 (9)%) 720.0 3Z3KEC: 1900.0, PH: 6.5
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P3-7

BfiE) | GEBIETK (D) | EHE (EH/HR) | XK R

01:50 120 70.0 A BR1&@01:50 (R FHfERLES)
02:50 120 70.0 A BRi%@02:50 (RFFEREE)
03:50 120 70.0 1] B3i%@03:50 (KFERSE)
09:00 120 70.0 1] 131£@09:00 (K F{ERLEE)
11:10 120 70.0 (&= Bi&e11:10 (REAEREE)
12:20 120 70.0 5 Bi%012:20 (REERSE)
13:25 120 70.0 & B1&@13:25 (KRFERE)
14:25 120 70.0 5 BRi&@14:25 (KRFAEREE)
15:40 120 70.0 5 B1%015:40 (REERSE)
23t[1080.0 (9%) 630. 0 3203 KEC: 2000.0, PH: 6.5

EREBRTK (120. 0) 57a8A (109. 0) RfF, FIREH T % @RE#1RS % XER

ZRINKPRIEBL77.0 ml.

large discrepency for begining water status (202:294.0), set to 210.0 ml.
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P3-7

BFE) | GEBRTIK () | ElE (EF/F) | XS R

01:35 120 70.0 5 B31&@01:35 (KRFEREE)
02:35 120 70.0 = BRi%@02:35 (RFIFEREE)
03:35 120 70.0 (&= B3%£@03:35 (KRFERSE)
08:25 120 70.0 (2= Bi%@08:25 (FKFERKSE)
09:55 120 70.0 5 B1%@09:55 (KRFERSE)
11:25 120 70.0 (&= Big011:25 (REERSE)
12:30 120 70.0 (2= Bi%012:30 (RAERSE)
13:45 120 70.0 (2= Bi%013:45 (REERSE)
15:20 120 70.0 A Bi%@15:20 (REERSE)
23t[1080.0 (9%) 630. 0 3Z3KEC: 1900.0, PH: 6.5

EREBRTK (120. 0) 57a8A (109. 0) RfF, FIREH T % @RE#1RS % XER

ZRINKPRIEBL77.0 ml.

large discrepency for begining water status (180:290.0), set to 202.0 ml.
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